Q. 38 Write Lewis structure of the following compounds and show formal
charge on each atom.
HNO;, NO,, H,SO,
Ans. The Lewis structure of the following compounds and formal charge on each atom are as
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Formal charge on an atom in a Lewis structure
= [total number of valence electrons in free atom]
— [total number of non-bonding (lone pairs) electrons]

- % [total number of bonding or shared electrons]

Formal charge 0nH=1—O—%x2 =0

Formalcharge0nl\|=5—0—%x8=1

Formal charge on O(1)= 6- 4—%x4= 0

Formal charge on O(2) =6 - 4 - 21 x4=0

Formal charge on O(3) =6 -6 - 21 x2=-1
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Formal charge on O(1)= 6— 4—%x 4=0
Formal charge onN=5-1 —%x 6=+ 1
1
Formal charge onO(2)= 6 - 6—5 x2=-1
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Formal charge onH(1)orH{2)=1-0 - % x2=0
Formal charge onO(1)or O(3) =6 - 4 - % x4=0
Formal charge onO (2)orO (4)=6- 6 — 21 x2=—1

Formal chargeonS:S—O—%x8=+2



